JSUNIL TUTORIAL

SUMMATIVE ASSESSMENT -1, 2014
MATHEMATICSCLASS-IX

SECTION - A
L afep>0sRb’=ad, @ Ja R : 1
(A)  -b (B) b © b D) b’
If b>0and b’=a then /a is equal to:
(A)  -b (B) b © b D) v’
2 ?Tﬁ‘iz+z=—1,(x¢y,y¢0)ﬁ,T‘ﬁxs—ye’?ﬂqﬂ%:
y X
& -1 ® 1 © o ®
fr+ Y= 1, (x# v, y # 0) then the value of x’—1 is :
y X
& -1 ® 1 © o ® 3
3. 3 2 1
IS p(t) = 46> + 4 — t — 1 1 OHETS (2t +1) T, A p(— E) HAM T :
OIS ® 5 © 1 ® 0
If (2t+1) is the factor of the polynomial p(t)=4t +4t—t—1 then the value of
p(— %) is :
1 1
A -3 ® © 1 D) 0
4 TERp=3 FEWE: 1
(Aa) 3 B) 3 © 1 D) 0
The degree of the polynomial p(x) = /3 is :
@) 3 ® V3 © 1 0 0
5. <t TE oTRfd § «BCD SRR ® : 1
A
B/\c
N
(A)  180° (B) ZACB+ ZABC
(C©) ZACB+ZBAC (D)  ZBAC+ ZABC
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In the given fiiure, /BCDisequal to:

C

B

.
(A)  180° (B)  ZACB+ ZABC
(C)  ZACB+ /BAC (D)  /BAC+ ZABC

T AP H (a+b+c+d+e+f+g+h+i+j) TRT :

(A)  900° (B)  720° (C)  540° (D)  360°
In the figure the measure of (a+b+c+d+e+f+g+h+i+j)is:

(A)  900° (B)  720° (C)  540° (D) 360°

e (2—a+b,b)=(6,2) T, WaHAFR :

(A 2 ® -2 © 4 (D) -6
If 2—a+b, b)=(6, 2) then the value of a is :
(A) 2 B -2 © -4 (D) -6

foig M, IV aqafsr # feerg @1 fig M & fdeness €

(A)  (ab) (B) (—ab)

© (@ —b) (D)  (—a —b)

The point M lies in the IV quadrant. The co-ordinates of point M is :
(A)  (ab) (B) (—ab)

© (@ —b) (D)  (—a —b)

@us-da/ SECTION-B
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10.

11.

12.

13.

AC%@ Coacl‘ling for Mathematics and Science

Question numbers 9 to 14 carry two marks each.

J‘=1.4143ﬁw=3.141@,€rwaaéﬁﬂ=rwﬂw% + v 1AM 1A hHIfT |

Taking 2 =1.414 and 7 =3.141, evaluate i + 1 upto three places of decimal.

2

i RITSTT fof 3T 347 + x — 1 1 Tk TGS (x+1) T2

Examine whether (x +1) is a factor of 3x+x—1?

afg x R y, I TIHE AR A 39 YHR € o P+ 42 =17 SR xy=2 72, o
(x +2y) 1 | 1A HITSIT |

If x and y are two positive real numbers such that x*+4y”*=17 and xy =2, then
find the value of (x +2y).

31 wfaeadt gl o %= foig P 3R Q €1 fag #ifS fF PQ=QR=PR 2|
R

/N
\/

P and Q are the centres of two intersecting circles. Prove that PQ=QR=PR.

fa ¥ LAOB: Z/BOC=2:3 81 afe LAOC=75°%], @ LAOB 3R «BOC <kl 1Y
I i |

0 =

C
In figure ZAOB : ZBOC=2:3. If ZAOC=75° then find the measure of ZAOB
and ZBOC.
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14.

15.

16.

JSUNIL TUTORIAL

Q
@
¥

37ar/ OR
o ¥ fag =ifsw f LAOB + ZBOC + ZCOD + ZDOA = 360°

B

C
In figure, prove that ZAOB+ ZBOC + ZCOD + ZDOA =360°

Teh TS 1 ST &, x + 1 3T 2x — 1 & T &%t x/10 &1 x 1 HH J1G HIfST |

The sides of a triangle are x, x +1, 2x —1 and its area is x+/10. What is the value
of x?

@us-"/ SECTION-C
U9 WM 15 W 24 § Uk & 3 A §
Question numbers 15 to 24 carry three marks each.

1% hI STl ®Y H1d hITST |

Find the decimal expansion of 1; .
31gdr/ OR

waﬁﬁq:4m+%m_m
Simplify : 4420 + %m_ Ja05
A FRT: (5 + 242)° — (V5 — B)
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Evaluate : (JE + 2\/5)2 - (J_ - \/§)2

17. Wﬁisxz—mx—naaﬂ@w@x—a@,a‘rmaﬂﬁqﬁa=m;“%ﬁ 3

m-+n

If x —a is the factor of 3x* — mx — na then prove that a =
94T/ OR
ITHRA THI o FAM § PEETE ST : 2x° — 9x* — 11x + 30.

Factorise using the remainder theorem 2x” — 9x” — 11x + 30.

18, TurTEvE FRIT : (2y+ )7y~ 29 + 2+ )’ 2r ) ’

Factorise : (2y +x)*(y — 2x) + (2x + 1)’ (2x — 1))

19. & TE H H a+ b I HIT 3

A4

Y

J1ar/ OR
fag FIfST o st & Sl 1 FRT 180° BT | |

Prove that the sum of the angles of a triangle is 180°.

20. UH USH & el SR IER S % & W AB SR CD @2 ¥ (3T 2fiEn) | 3
A C
B

E F D
afg AF=CE &, 11 fag #ifS¢ f BE=FD 81

Two equal pillars AB and CD are standing on either side of the road as shown in
the figure.
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A C

B—% F__ D
If AF = CE then prove that BE=FD

21. AABC U Hfgarg 1« € f598 AB=BC ?1 g CE 3iR BF < wiftzsh1d €, @1 fas
HIfSY fF AABF =~ AACE ® |

AABC is an isosceles triangle with AB=BC. If CE and BF are the medians then
prove that AABF = AACE.

22. fag ifsu fob et AABC ® afg AB > AC A9 BC R & foig D@, @ AB> AD ®|

Prove that in a AABC, if AB > AC and D is any point on the side BC, then
AB > AD.

23.  apfa § APQR #t ST QR &I S @& &M@ T g1 AT LPQR R /PRS &
gafgursts T R fierd €, @ fag #ifse i 2/.QTR = ZQPR B

I

>
>

Q R S
In figure, the side QR of APQR is produced to a point S. If the bisector of ZPQR

and ZPRS meet at T then prove that 2ZQTR = ZQPR.

I

Y

24. & T empfa § ABCD Uk wweugys ¥ fSEH AC=16 cm 3R AB=10 cm %I
THEGHST T &l 1 TSI |
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A

&
(&
D

16 cm

C
In the given figure ABCD is a rhombus with AC=16 cm and AB=10 cm. What

is the area of the rhombus ABCD.
A

&
(&
D

16 cm

@us-3 / SECTION-D
U9 HEAT 25 9 34 ¥ Udeh o 4 37k &1

Question numbers 25 to 34 carry four marks each.

25. AfCa=7-443 ﬁr,?h\/5+%wnﬂamaﬁﬁm 4
a

Ifa=7—4«/§ then find the value of \a + %
a

3rgET/ OR

26. 1 1 1 . 4
mﬁﬁ@ﬁﬁ1+ﬁ+ﬁ+ﬁ+ﬁ+ﬁwqﬁﬁqw%l

1 1 1
1+ 2+ B+

Prove that is a rational.

27. TgUG flx)=x"—2"+3x"—ax+Db H (x—1) 3R (x+1) § 9N 7 W IAYHA HA: 4
531981 Ax) BT (x—2) T 9T I TR ATHSA G BT |
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28.

29.

30.

31.

32.

AC(:BS(E Coaching for Mathematics and Sclcm:e

On dividing fix)=x"—2x"+3x’—ax+b by (x—1) and (x+1) we get remainder
5 and 19 respectively. Find the remainder when f(x) is divided by (x —2).

C 1 T 91 1 HIT foh 5808 2x° — 76— 3x + C, (2x +3) ¥ Yoia: fasnfoa & smy)
GUS h PHEUE hHifWT |

Find the value of C for which the polynomial 2x* — 7x* — 3x + C is exactly divisible
by (2x+3). Hence factorize the polynomial.

?T&(x+y+z=0€l,?ﬁfﬂ@aﬁmﬁﬁx3+y3+zgz3xyz.

If x + 1y +2z=0 then show that x’+1° +2° = 3xyz.

frefafaa fagsti =1 smeifad #X & fogsll & FAHaRr sifen R 3THfd PORS &1
TR : P(1, 1), Q(4, 2), R4, 8), S(1, 10) fig P o1 x-37&7 & y-31&1 WX U Hidfera
fefem

Plot the following points. Join them in order and identify the figure, PQRS thus
obtained : P(1, 1), Q(4, 2), R(4, 8), S(1, 10). Write mirror image of point P on
x-axis and y-axis.

AABC &1 y=Tisii AB 3R AC &I SFHS: P q91 Q T &g/ T g1 afg CBP 31X
/BCQ & Tufgrsih %99 BO 3R CO %, it T foig O W e €, @ fag wifaw ff

/BOC=L(y+2) ¥

The sides AB and AC of AABC are produced to point P and Q respectively. If
bisectors BO and CO of ZCBP and ZBCQ respectively meet at point O, then

prove that ZBOC = % (y +2).

aTRfd § OA =0B, OC=0D @1 ZAOB=~COD ¢! fag =®ifst fif AC=BD %1
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>o

>
)
cn<

In figure OA =0B, OC=0D and ZAOB=ZCOD. Prove that AC=BD.

>o

>
N
w<

31941/ OR
amHfa § AD=BD ¥ fog =ifse fF BD < AC® |

o (5
A

B D C
In the given figure AD=BD. Prove that BD < AC.

< (5
A

ws}

D C

33. opfd § LACB T& HH&I § 3R AC=CD @1 CDEF T& TAR =qys g1 afc 4
/FEC= 10°'€r @ /BDE ufiefera ifsra |

D E

N
el

In figure ZACB is a right angle and AC=CD and CDEF is a parallelogram. If
ZFEC=10° then calculate ZBDE.

Q

A C F

34. Prove that two triangles are congruent if any two angles and the included side of
one triangle is equal to any two angles and included side of the other triangle.
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